399b 399f wit

B

23

o

o

£

o

<]

£

£

2

o

(]

w

=

=

3990 399f wt
C
(1) Y @) Y
5'"-AGGGGAAARAUCUUCUUUGGCA- 5'-CUGGGCAAAUCUCCUUUGGCA~-
miR399%a GUCCCGUUUAGAGGARACCGUS miR399%a GUCCCGUUUAGAGGAAACCGUS
miR399%/c GUCCCGUUGAGAGGARACCGU miR399b/c GUCCCGUUGAGAGGAAACCGU
miR399d GCCCCGUUUAGAGGARACCGU miR399d GCCCCGUUUAGAGGAAACCGU
miR39% GCUCCGUUUAGAGGAAACCGU miR399% GCUCCGUUUAGAGGAAACCGU
miR399f GGCCCGUUUAGAGGAAACCGU miR399f GGCCCGUUUAGAGGAAACCGU
Y

©) 5 —UUGGGCAAAUC'UUCUUUGGCA— ) 5'-UAGGGCAAAUCUCCUUUGGCA-
miR399%a GUCCCGUUUAGAGGAAACCGU miR399%a GUCCCGUUUAGAGGAAACCGUS
miR399/c GUCCCGUUGAGAGGARACCGU miR399%b/c GUCCCGUUGAGAGGAAACCGU
miR399d GCCCCGUUUAGAGGAAACCGU miR399d GCCCCGUUUAGAGGAAACCGU
miR399%e GCUCCGUUUAGAGGAAACCGU miR39% GCUCCGUUUAGAGGAAACCGU

miR399f GGCCCGUUUAGAGGARACCGU miR399f GGCCCGUUUAGAGGAAACCGU



